20°

In the process shown, 1 mole gas expands
from 5L to 20L while in thermal contact
with the system on the left, so that its
temperature remains at O degrees.

We can say that during the expansion:

A) Heat flows into the piston from the
system on the left.

B) Heat flows out of the piston from the
system on the left

C) There is no heat flow.

EXTRA: If heat flows, calculate how much.
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It’s a hot day and your house doesn’t have air conditioning.
Your friend Sam suggests leaving the refrigerator door open in
order to cool down the kitchen. What is aruappropriate

response here?
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A) That’s a great idea, let’s do it! + Worle de~e
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B) Yes it will cool down the kitchen, but it’s a total waste of
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D) Hey Sam, that’s great that you’re thinking creatively, but it
will actually make the room warmer than leaving the fridge

door closed.
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2 0°C

A flow of heat from a cold object to a hot object (without
any associated work) would violate conservation of energy.

A) True

B) False
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Discussion Question:

Why does heat always flow from hot objects
to colder objects?
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If the frogs move around
randomly, why is there always a
net movement of frogs from an
area of high average frog density
to an area of low average frog
density?
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In the analogy with a thermodynamic system, the individual frogs
represent

A) Molecules
B) Units of energy

C) Temperature
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2 ND LAW of THERMoDYNAMICS:
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